117 cfdiff 2 (TMRTD-
hWohfvwwyxWKXxDsYn8qJpfhiCnW3t)

October 27, 2020

Let ml_subset_.1 : t=>1=0 be given. Let kl_numbers : ¢ be given. Let
vl_xemplz_ 0 : t=>-0 be given. Let k3_binop_2 : t=>1=1 be given. Let k5_binop_2 :
t=>t= be given. Let k7_complexl : 1 be given. Let rl_zzreal 0 : t=1=0 be
given. Let k17_complexl : 1= be given. Let k7_real_1 : 1=1t=>1 be given. Let
k18_complexl : 1=t be given. Let k2_numbers : ¢+ be given. Let k3_complex] :
1=t be given. Let k4d_complexl : 1= be given. Let vl_zreal 0 : 1=0 be
given. Let k2_xcmplz 0 : 1=-1=>1 be given. Let k3_xcmpla 0 : 1=>1=>¢ be given.
Assume the following.

VX0.(ml_subset-1 X0 k2_numbers)=-(rl_zxreal-0 (k17_complexl
X0) (k7-real_1 (k18_complexl (k3_complexl X0)) (k18-complex1 (1)
(k4_complexl X0))))

Assume the following,.

VX0.(vl_xreal 0 X0)=(VX1.(vl_xreal 0 X1)=((k3_complexl
(k2_xemplz 0 X0 (k3_xemple0 X1 k7_complexl)) = X0)A(k4_complexl
(k2_xemplz 0 X0 (k3_xemple 0 X1 k7_complexl)) = X1)))

Assume the following.

VX0.VX1.((vlzemplz 0 X0)A(vl_xemple 0 X1))=( (3)
k5 binop-2 X0 X1 = k3_xemplz_0 X0 X1)

Assume the following.

VX0.VX1.((vlzemplz 0 X0)A(vlzemple 0 X1))=( (@)
k3 binop-2 X0 X1 = k2_xemplz_0 X0 X1)

Assume the following.
ml_subset_1 k7_complex1 k2_numbers (5)

Assume the following.

VX0.VX1.((vl_xemple 0 X0)A(vl_zemple 0 X1))=( (6)
ml_subset_1 (k5_binop2 X0 X1) k2_numbers)



Assume the following.

VX0.VX1.((vl_xemplz 0 X0)A(vl_zemple 0 X1))=(
ml_subset_1 (k3_binop2 X0 X1) k2_numbers)

Assume the following.
VX0.(vlxreal-0 X0)=(vl_xemplz_0 X0)

Assume the following.

VX0.(ml_subset_1 X0 k2_numbers)=(vl_xemplz_0 X0)
Assume the following.

VX0.(ml_subset-1 X0 k1 numbers)=-(vl_zreal 0 X0)

Assume the following.

VX0.(ml_subset-1 X0 kl_numbers)=-(vl_zemplz_0 X0)

Theorem 1

VXO0.(ml_subset-1 X0 kl-numbers)=(VX1.(ml_subset_1
X1 k1l numbers)=(VX2.(vl_xemplz 0 X2)=((X2 = k3_binop-2
X0 (kbbinop2 X1 k7_complexl))=(rl_zxareal 0 (k17_complexl X2)
(k7_real_1 (k18_complexl X0) (k18_complexl X1))))))



